### DEPARTMENT of PUBLIC WORKS



**PETE HEIMBIGNER**, Director Public Works/Transportation

707 Nevada Street, Suite 4 Susanville, CA 96130

\$\frac{1}{25}\$ 530) 251-8288 FAX: (530) 251-2675

Roads D3 2021/67

April 16, 2021

TO:

Board of Supervisors

Agenda Date: April 27, 2021

FROM:

Department of Public Works/Transportation

SUBJECT:

Bid Award for Herlong Access Road, CR 358 Rehab SB-1 Hot Mix Asphalt Overlay

Project

RECOMMENDATION: That the Board of Supervisors: 1) Award the contract for "Herlong Access Road, CR 358 Rehab SB-1 Hot Mix Asphalt Overlay Project" to Hat Construction & Materials, Inc., the lowest bidder meeting the specifications in the amount of \$1,388,689.00; 2) Authorize the Director of Public Works to sign the agreement upon approval as to form by County Counsel; 3) Authorize the Director of Public Works to authorize Change Orders up to a "not-to-exceed" amount of \$208,000.00 (approximately 15%) or a total contract not-to-exceed cost of \$1,596,689.00.

<u>DISCUSSION</u>: Formal bidding procedures were initiated on March 25, 2021, including the posting of project to builder's exchanges. The bid opening was April 15, 2021. A total of three (3) contractors requested bid packages and two (2) bids were submitted.

Hat Creek Construction & Materials, Inc, Burney CA

Bid \$1,388,689.00

Granite Construction Company, Sparks, NV

Bid \$1,874,874.00

The bids are responsive and therefore it is recommended that the award be made to Hat Creek Construction & Materials, Inc., in the amount of \$1,388,689.00

ALTERNATIVE: Not Approve.

<u>FINANCIAL IMPACT</u>: Funding is available within the current 2020/2021 Fiscal Year road construction budget 122-1222.

OTHER AGENCY INVOLVEM	ENT: None.		1	
DEPARTMENT APPROVAL:	tetn	L. 8	Gennel	 _
REVIEWED FOR AGENDA:				

BID STARTS - DATE April 1, 2021

BID OPENING – DATE April 15, 2021

**DEPARTMENT: Public Works** 

FOR: Herlong Access Road Rehab Project

PERSONS PRESENT: PLEASE PRINT YOUR NA	AME	
Pete Heimbigher		
sam Mumuilen		
BOD MUGUNA		
vendors:  1. HOT Creek Construction & M	Bid & Amount  Wirials \$1,300,400 GGHAUN	ed
2. Grande Construction Compar	Merials \$1,300,409.00 (Sepach	red
3.		
4.		
5.		
6.		
7.		
8.		
9		

## BID ITEM LIST

Item No.	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Total Price
1	LEAD COMPLIANCE PLAN	LS	LUMP SUM	\$900.00	\$900.00
2	TRAFFIC CONTROL SYSTEM	LS	LUMP SUM	\$77,979.00	\$77,979.00
3	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	\$860.00	\$4,300.00
4	JOB SITE MANAGEMENT	LS	LUMP SUM	\$1,500.00	\$1,500.00
5	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	LUMP SUM	\$900.00	\$900.00
6	PULVERIZATION EXISTING ASPHALT CONCRETE SURFACE	SQYD	41,000	\$4.50	\$184,500.00
7	COLD PLANING EXISTING ASPHALT CONCRETE SURFACE	SQYD	1,900	\$10.00	\$19,000.00
8	SHOULDER BACKING	TON	1,400	\$10.00	\$14,000.00
9	HOT MIX ASPHALT (TYPE A)	TON	10,000	\$91.00	\$910,000.00
10	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREAS)	SQYD	2,200	\$10.00	\$22,000.00
11	TACK COAT	TON	8	\$1,000.00	\$8,000.00
12	INERTIAL PROFILER	LS	LUMP SUM	\$8,500.00	\$8,500.00
13	CONSTRUCTION STAKING	LS	LUMP SUM	\$7,000.00	\$7,000.00
14	THERMOPLASTIC TRAFFIC STRIPE - SPRAYABLE	LF	38,250	\$0.28	\$10,710.00
15	THERMOPLASTIC PAVEMENT MARKING	SQFT	675	\$8.00	\$5,400.00
16	ADJUST MANHOLES TO GRADE	EA	7	\$2,500.00	\$17,500.00
17	QUALITY ASSURANCE AND CONTROL TESTING	LS	LUMP SUM	\$44,000.00	\$44,000.00
18	MOBILIZATION	LS	LUMP SUM	\$52,500%	\$52,500 88

TOTAL BID AMOUNT: \$ 1,388,68900

## Exhibit 12-B: Bidder's List of Subcontractor (DBE and Non-DBE) Part 1

As of March 1, 2015 Contractors (and sub-contractors) wishing to bid on public works contracts shall be registered with the State Division of Industrial Relations and certified to bid on Public Works contracts. Please register here. The local agency will verify registration of all contractors and subcontractors on public works projects at bid and thereafter annually to assure that yearly registration is maintained throughout the life of the project.

In accordance with Title 49, Section 26.11 of the Code of Federal Regulations, and Section 4104 of the Public Contract Code of the State of California, as amended, the following information is required for each sub-contractor who will perform work amounting to more than one half of one percent (0.5%) of the Total Base Bid or \$10,000 (whichever is greater).

Name: Name: Name: City, State: Name: Apply A Line, LLC. City, State City, State: Name: T and S DVBE, Inc. Name:
Pavement Recycling Systems, Inc. City, State: City, State: City, State: Anderson, CA 96007 Anderson, California Sacramento, California Subcontractor Name and Location Bid Item 6(p), 7(p) - Pulverizing Bid Item 2(p) - Traffic Control Bid Item 14, 15 - Striping Line Item & Description \$18,510.00 \$48,870.00 \$54,507.32 Subcontract Amount Percentage of Bid Item Sub-100% 2(p) - 69.9% 7(p) - 26.1% 6(p) - 23.8% contracted 569352 License Number DIR Reg Number 1000003363 1000053259 1031889 1000007688 983087 Contractor K (Y/N) Z Z DBE Cert Number 38721 Age of Firm: Age of Firm: \_\_\_yrs. Annual Gross Receipts Age of Firm: 11 yrs. Age of Firm: 32 yrs. ge of Firm: <\$15 million Firm: 30 yrs. <\$15 million <\$10 million <\$5 million <\$1 million <\$5 million <\$1 million <\$5 million <\$1 million <\$1 million <\$10 million <\$1 million <\$5 million <\$5 million <\$5 million <\$1 million yrs. YS

Distribution: 1) Original: Local Agency File; 2) Copy: DLAE w/ Award Package

## BID ITEM LIST

Item No.	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Total Price
1	LEAD COMPLIANCE PLAN	LS	LUMP SUM	42,000≌	42,0009
2	TRAFFIC CONTROL SYSTEM	LS	LUMP SUM	<del>467,234 °°</del> € *82,249 °°	\$67,2348 € \$82,249 €
3	PORTABLE CHANGEABLE MESSAGE SIGN	EA	5	#1,500€	<sup>#</sup> 7,500 <sup>22</sup>
4	JOB SITE MANAGEMENT	LS	LUMP SUM	#3,000 ≌	#3,000 SP
5	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	LUMP SUM	#1,000 9	*1,000 \$
6	PULVERIZATION EXISTING ASPHALT CONCRETE SURFACE	SQYD	41,000	#49	#164,000 9
7	COLD PLANING EXISTING ASPHALT CONCRETE SURFACE	SQYD	1,900	*5ºº	\$ 4,500 €
8	SHOULDER BACKING	TON	1,400	\$60 €	#84,000 <del>2</del> 9
9	HOT MIX ASPHALT (TYPE A)	TON	10,000	#/35≌	*1,350,000°
10	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREAS)	SQYD	2,200	*/2°°	₹ Z6, 400 ºS
11	TACK COAT	TON	8	#/,500 °≌	#12,000 99
12	INERTIAL PROFILER	LS	LUMP SUM	\$10,000 ≅	#10,000 ≌
13	CONSTRUCTION STAKING	LS	LUMP SUM	<b>#5,000 </b> ≌	<i>\$5,000</i> ≌
14	THERMOPLASTIC TRAFFIC STRIPE - SPRAYABLE	LF	38,250	405	<i>*15,300≌</i>
15	THERMOPLASTIC PAVEMENT MARKING	SQFT	675	*//29	#7,425≌
16	ADJUST MANHOLES TO GRADE	EA	7	# 1,500 ≌	\$10,500 €
17	QUALITY ASSURANCE AND CONTROL TESTING	LS	LUMP SUM	# 45,000 ≌	<b>*</b> 45,000≌
18	MOBILIZATION	LS	LUMP SUM	#40,000 ≌	*40,000 €

TOTAL BID AMOUNT: \$\frac{1,859,859 99}{1,874,874,874\geq}

# Exhibit 12-B: Bidder's List of Subcontractor (DBE and Non-DBE) Part 1

As of March 1, 2015 Contractors (and sub-contractors) wishing to bid on public works contracts shall be registered with the State Division of Industrial Relations and certified to bid on Public Works contracts. Please register here. The local agency will verify registration of all contractors and subcontractors on public works projects at bid and thereafter annually to assure that yearly registration is maintained throughout the life of the project.

In accordance with Title 49, Section 26.11 of the Code of Federal Regulations, and Section 4104 of the Public Contract Code of the State of California, as amended, the following information is required for each sub-contractor who will perform work amounting to more than one half of one percent (0.5%) of the Total Base Bid or \$10,000 (whichever is greater). Photocopy this form for additional firms.

Federal Project Number:

Age of Firm: yrs.					•	
<\$15 million						
<\$10 million						City, State:
<\$5 million						
<\$1 million						valle.
Age of Firm:yrs.						Name:
<\$15 million				; •		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
☐ <\$10 million				-		City, State:
☐ <\$5 million						
<\$1 million						
Age of Firm: 4yrs.						Name:
<\$15 million		here conner	?			:
<\$10 million	ž	Minerace	150-777%		150 - Pavement Marking	City, State: HNUBRSON, CA 150 - Pavement markings
<\$5 million	_	1001001	140-70%		140-Pavement Marcinus	
<\$1 million		0.881201	10-72.5%	1008/124 N#	10 - LEAD COMPLIANCE RAN	Apply-A-LINE
Age of Firm: 42yrs.						Name:
× <\$15 million		1000005424				
(\$10 million	7	Interior Form			( <b>2</b> )	City, State: LINCOLN, CA
<\$5 million	_			•	MATERIAL	On Control of the
<\$1 million		410121	80 - 12.07%	#10,140 ss	80 - PLACE SHOULDER #10,140 €	AC DIKE CO
Age of Firm: 25 yrs.						Name:
<\$15 million		100021237				
X <\$10 million	2	L36460001			į	City, State: KEND, NV
<\$5 million	~	777				0
<\$1 million	`	A//A	170-66.8%	#30,100 ºº	a 170- Quality	DRITERN SIERRA FINGINERANG
Age of Firm: 45 √rs.						Name:
X <\$15 million		Cacc 000001	60-22.5%			•
<\$10 million	2	200000000000000000000000000000000000000	70- 32.10		70-ACMILLING	City, State: JuRuph Valley, CA
<\$5 million	_	2	2 - 8			
<\$1 million		569357	865.2%	55 956 1h#		Name: Pavement RECYNING SUSTEMS
7	(XX)	DIR Reg Number	contracted	Amount	€	
DBE Cert Annual Gross Receipts	DBE	Contractor	Percentage of	Subcontract	Line Item & Description	Subcontractor Name and

Distribution: 1) Original: Local Agency File; 2) Copy: DLAE w/ Award Package

Control of the Contro

The same

1200 2